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MARKING SCHEME

STAIR ATGL 2002

GENERAL PRINCIPLES

SECTIONS A +D (Short Answer Questions ~ SMx 8)

Core = basic element of fact or relevant answer = SM

Questions involving judgment in the answer may be awarded from 1M to SM.
Marking = 8 items. (If more than 8 attempted, award 8 highest) 8 X 5M =40M

SECTIONS B+F (Paragraphs Questions —20M x 2)

MARKING

Cumulative Mark (CM) = 15M

Break up the paragraph into points using ticks.

Put a tick at the end of the final word of the completed point.
Award each completed point SM.

The final point in a paragraph may be marked as follows:
Very Good: 4 - 5. Good: 2 - 3. Poor: 0-1.

o o 0O 0O

Definition of a Point

(a) A relevant significant statement or an explanation, comment, opinion.
(b) A relevant significant introductory statement
OR
| A relevant significant concluding statement

Overall Mark (OM) = SM.

Review the answer in the context of the given question and award a mark using the following
rating:

Very Good: 4 — 5. Good: 2~ 3. Poor: 0-1
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SECTIONS C +F (Essay Questions — 60M x 2 = 120M)

MARKING

Cumulative Mark (CM) = 50M

Break up the answer into points (as already defined) using ticks.
Put the tick at the end of the final word of the compieted point.
Award each tick SM. |

One single point on its own at the end may merit up to SM.

A relevant introductory paragraph may be awarded a max of 10M.

A relevant concluding paragraph may be awarded a max of 10M.

Overall Mark (OM) = 10M.

Review the answer in the context of the given question and title and award marks using the
following ratings:

Good: 8-10 A coherent presentation of the main relevant points.
Average: 4—7 A standard but unexceptional presentation of some relevant points.

Poor: 1-3  An attempt but with identifiable defects.
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COURSE 1
Section A (SM X 8 =40M)

Mark as per GENERAL PRINCIPLES for Short Answer Questions; (5M x 8 =40)

1. A standing force of 120 archers and 40 horsemen to assist the governor.
It was abolished by Sir Edward Poynings. 5M

2. Both came to Ireland as Yorkist pretenders to the throne. Simnel was crowned king in
Dublin in 1587. SM

3. Sea port. Trade links with Spain and Portugal. Wine trade. 5M

4. Henfy was dissatisfied with him as Lord Deputy. Failed to solve the Butler-Desmond feud.
Failed to keep the Gaelic chieftains in check. He was using his position as Lord Deputy to
advance his own cause and not that of the king. 5M

5. The king was the supreme head of the church in his kingdom. SM

6. To hide and protect Gerard (the young brother of Silken Thomas) from Tudor attack. To
restore the House of Kildare. 5M

7. Gaelic chieftains would surrender their lands to the king, and the king would then re-grant
the lands to the chieftains, together with an English title. 5M

8. It did not have any catholic representatives. 5M

9. The Pope’s representative sent to obtain a view of the state of the Catholic Church in
Treland. To pick out suitable men to be appointed bishops. 5M

10. The Book of Common Prayer. 5M

11. To educate Irish Catholics for the priesthood. Such facilities not allowed at home. 5SM
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12. One relevant historical fact. SM
13. The Irish. Hugh O Neill. The Gaelic Chieftains. SM
14. Asthe new\king was Scottish and a Stuart, and not a Tudor, Irish leaders believed that

would receive better treatment than they had under Elizabeth. 5M

15. Grace O Malley — Pirate Queen. Michael O Cleirigh — Historian. Annals of the Four
Masters. Fynes Morrison — English travel writer. Official historian to Lord Mountjoy during
the Nine Years War. Peter Lombard — Theologian. Church leader. Agent of the Counter
Reformation. Writer. Geoffrey Keating - Gaelic Poet. Cleric. Richard Stanihurst — Tutor to

the 11 Earl of Kildare. Historian of the Kildare Rebellion. 5M

Section B (20M X 2 = 40M)

Mark as per GENERAL PRINCIPLES for Paragraph Questions. (20M x 2 = 40M)
1. Max CM = 15M

Max OM = 5SM

2. do.
3. do.
4. do.
5. do.
6. do.



Section C (60M X 2 = 120M)
Mark as per GENERAL PRINCIPLES for Essay Questions.

1 Max. CM=50M

Max. OM =10M

2 Mark as per Q. 1 above.

3 Max.CM=50M
Max OM = 10M
Note: There are THREE elements in this question.
If only TWO elements treated — Max CM =45
Max. OM =7
If only ONE clement reated — Max. CM = 30

Max. OM =3
4 Mark as per Q. 3 above.

5 Mark as per Q. 1 above.

6 Mark as per Q. 3 above.
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Section D (SM X 8 =40M)

Mark as per GENERAL PRINCIPLES for Short Answer Questions.

8
9

One relevant historical fact. 5SM
Pioneered printing in England. Printed first translation of the Bible into English. 5M
To Canada. (Newfoundland. Cape Breton Island. Labrador.) M
A wealthy person who gave money, or other assistance, to artists. | M
Decline of Bruges. Antwerp was largest sea port in Europe. Stock market. SM
Spanish explorers who conquered lands in the ‘New World’. e.g. Cortes. SM
He refused to accept the Oath of Supremacy which stated that King Henry was the
supreme head of the church. 5M.
One relevant reform clearly stated. SM.

Turks were defeated. The threat to Europe was averted. 5M

10 She claimed to be the rightful heir to the throne. Seen as a threat to Elizabeth. She was

allegedly involved in a plot to overthrow Elizabeth. 5M

11 His teachings spread acceptance of Presbyterianism (Calvinism) in Scotland. SM

12 Influx of gold and silver from the ‘New World” as a result of exploration. SM

13 A plot to blow up the houses of parliament in London. SM

14 One relevant cause clearly stated. SM

15 Palladio - Architecture. Theresa of Avila-Carmelite Order. Rabelais- Writer.
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Palestrina ~Music. Cervantes- Writer. El Greco- Painter. Any one = 5M



Section E (20M x 2 =40M)
Mark as per GENERAL PRINCIPLES for Paragraph Questions.

1 Max.CM ISM

Max. OM 5M
2 do.
3 do.
4  do.
5 do.
6 do.

Section F (60M X 2 = 120M)
1. Max. CM=50M
Max. OM = 10M
NOTE: There are THREE elements in this question.
If only TWO elements treated — Max. CM = 45M
Max. oM =™
If only ONE element treated — Max. CM =30M
Max. OM =5M
2. Mark as per Q.1 above
3. Max. CM =50
Max. OM =10
4. . Markas per Q. 1 above.
S. Mark as per Q. 3 above

6 Mark as per Q. 3 above.
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COURSE 11

Section A (SM X 8 = 40M)

Mark as per GENERAL PRINCIPLES for Short Answer Questions.

1.

8.

9.

The vast majority in Ireland were catholic. He wished to “pacify Ireland’ as his
stated mission on coming to power. Any one valid reason. 5M

Voters could vote in secret. SM

To sit, act and vote together with the party. If failing to do so, to resign from the
party. 5M |

To De-Anglicise Ireland. To halt the decline of the Irish language. To restore the
use of Irish. To have Irish recognised as a subject in schools and universities. To
promote Gaelic culture. Any one valid reason. 5M |

The newspaper of the Gaelic League. 5M

It was built in Belfast. It docked in Cobh. Many Irish people were on board, Any
one valid reason. 5M

Co-founder of the Gaelic League and of the Irish Volunteers. His role in 1916.
Minister for Education in the first Irish government. Member of the Boundary
Commission. Any one valid reason. SM

Linen. Shipbuilding. Any major industry relevant to the period in Ulster. 5SM

To go fight for Britain. To fight for the freedom of small nations. 5M

10. Douglas Hyde.  5M

11.C.LE. ' 5M
12. Any one valid political fact during the 1950s. 5M

13. Electorate wanted change. Emergence of two new parties, etc. Any one valid
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reason. M



14. Any one valid result. 5M

15. Anna Parnell — Politics. Ladies Land League. J.M. Synge — Playwright. Maude
Gonne — National politics. John Dillon - Land agitator. Leader Home Rule
Party. Ronnie Delaney — Sport. Patrick Kavanagh — Poet

Any one of above. 5M

Section B (20M X 2 = 40M)
Mark as per GENERAL PRINCIPLES for Paragraph Questions.
1. Max.CM=15M
Max. OM = 5M
2. do.
3. do.
4. do.
5. do.

6. do.

Section C (60M X 2 = 120M)

Mark as per GENERAL PRINCIPLES for Short Essay Questions.
1. Max.CM =50M

Max. OM =10M

2. Max.CM = 50M

Max. OM = 10M

13 hist ol 10



13 hist ol

NOTE: There are THREE elements in this question.
If only TWO elements treated — Max. CM = 45M
Max, OM =™
If only ONE element treated - Max. CM =30M
Max OM = 5M
3 Mark as per Q. 1 above
4 Mark as per Q. 2 above.
5 Mark as per Q. 2 above.

6 Mark as per Q. 1 above.

Section D (SM X 8 =40M)

‘Mark as per GENERAL PRINCIPLES for Short Answer Questions.

1

German railway system transported troops quickly. French roads and railway system
clogged up. French soldiers unable to fire new gun. Poor leadership, etc. Any one valid
reason. SM

Defeat in Russo-Japanese war. Many classes alienated from the Autocracy. Bloody
Sunday, etc. Any one valid reason. 5M

Naval race. Arms race. Kaiser’s expansionist policies in Africa. Fears of German
intentions in Europe. Economic rivalry as Germany continued to catch up on Britain.
Any one valid reason. SM

National pﬁde and prestige. Markets abroad. Raw materials. Military bases. To pre-
empt a rival power. Any one valid reason. 5M

The Russian parliament. 5M

11
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6 Franz Ferdinand, heir to the Hapsburg Throne, was assassinated. 5M

7 To provide an international forum for the preservation of the peace. 5M

8 The previous policy of war communism was causing near-famine conditions. The
people were not in favour of war communism. To encourage the peasants to grow more
crops for profit. Any one valid reason. SM

9 Inorder to marry a divorcee, Mrs Simpson. He could not remain king if he married a
divorcee. Any one valid reason. Sm;

10 Support from Hitler and Mussolini. The opposition were divided into several groups
with different aims. Any one valid reason. 5M

11 The period when no actual fighting took place. 5M

12 First major defeat in Europe for Hitler. After Stalingrad, Soviet troops advance into
Eastern Europe. Hiﬂer in retreat. Any one valid reason. 5M

13 Winston Churchill, 5M |

14 Any one relevant territory. SM

15 Marie Curie — Physics. Science, etc. Leo Tolstoy — Literature. Marconi — Wireless
telegraphy. Rosa Luxemburg — Revolutionary leader. Leading member of the German
Spartacists. William Beveridge — The Beveridge Report. Labour’s policy of a welfare

State. Imre Nagy — Hungarian politician. Hungarian leader. Communist leader. SM

12



Section E (20M X 2 = 40M)

Mark as per GENERAL PRINCIPLES for Paragraph Questions. -
1 Max.CM 15M

Max. OM 5M

2 do.
3 do.
4 do.
5 do.

6 do. N.B. Treat science and technology as one concept.
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Section F (60M X 2 = 120M)

Mark as per General Principles for Short Essay Questions.
1 Max.CM=50
Max OM =10
2 Max. CM=50
Max. OM = 10
NOTE: There are THREE elements in this question.
If only TWO elements treated — Max. CM = 45M
Max. OM =7
If only ONE element treated — Max. CM =30
Max. OM =5
3 Mark as per Q. 1 above.
4 Mark as per Q. 1 above.
5 Mark as per Q. 2 above.

6 Mark as per Q. 2 above.
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